Calculus BC – Chapter 3 - Even Answers (F.T.D.W.)
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Practice Exercises
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40. (b) Max height when t = 2 sec.


v(0) = 64 ft/sec. 


(c) ttop = 12.308 sec 


& max height of 393.846 ft.


42. (a) v(1) = 32 ft/sec


(b) v(2.5) = -16 ft/sec


(c) v(2.0) = 0 ft/sec


44. (b) |v| is a minimum at t = 0 and t = 10 sec.


maximum at t = 15 sec


46. �


48. 


�


50. 


r(x) = xp  � EMBED Equation.DSMT4  ���


when x = 40 @ $4 per


52. (a) � EMBED Equation.DSMT4  ���


(b) � EMBED Equation.DSMT4  ���











56. No. The chain rule gives a sufficient condition. It is not ‘necessary’ for both f & g to be differentiable.


58. dy/dt = 0


60. dw/ds = � EMBED Equation.DSMT4  ���


62. y = ½ 


64. d


66. � EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


68. (a) x2 – y2 = 1 � EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


(b) � EMBED Equation.DSMT4  ���


70.  -6


72. At x = 0, tan x = 0 and f(0) = 1 and � EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


L(x) : y – 1 = -1(x – 0)


74. (b) y = -0.1 + 2.5x


(c) .003


76. � EMBED Equation.DSMT4  ���


78. (a) 4%  (b) 8%


(c) 12%


80.  .04 ft





54. (a) � EMBED Equation.DSMT4  ���


(b) � EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


(c) 600 m/s 


(d) 5.73 rpm
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